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0 "|E—= E.+T 1 - — 5,
E-. E+T F=.(B L g,
E-».T st 1,5
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oS (0 Jos 525 O)90 42010 gaction Cuond oS
Sjped (50,8 action[i,a] ;3 pigy S;alb 4@ o L S s g il Jlwey Ssa 51 -
o2 o 4,8 action[i,b] ;5 (b Mio)Follow(A) acgeme slac! plos slil 4 cA = . Slygiws ol lil & Sy cdls o =
Cal A= 0l jguwd ojledd N a5 & R
2,5 (o )8 accept yloyd action[i,$] > sl awily )5 S >S50 §; el 51 -
J o2 (o )l)3 gOtofi, Al )d magy (oo Sjcdls 4y (A M) Jlusy e SO L S cdls 5l ailis cunl 3 gOtO iso oSS (gly -

S oy 1y B aomieo pl,SUs 355 Sy Jlso

Follow(E) = {+,),$}

Action goto Follow(T) ={*,+,),$}
dl+ ] *] () $ EITIF Follow(F) = {*+,),$}
Sy | Ss S, 1123
S, Se Accept
S, R, 5, R, R,
S, R, | R, R,| R,
S, | 'Ss S, 8123
S, R, | R, R, | R,
Se | S; S, 913
S 5 S, 10
Sg Ss Siy
S, R, | S, R, | R,
Sio R; | Ry R, R,
Sy Rs | Rs R; R;

oS o P 1y 25 S0 SLR Jgaa 51 o3l b didy S a1 525 S

23,5 o a3la] andy 4 adgl clls g oS oo aL] (6399 4y ol 4 1y § oMo Iz

Ao Jite ddy (YL 4 1y I e 9@ (6399 dlos 1l 048 455 4eliyy ¢ action[i,a]=S, ,S1:JWSI -)

doby il A =B g osclojlas N ST L il asl 4 Cunl o0d ol 0 pSiwy 5 AsL action[i,a] =R 511 aals -y
s 3 A\ 185 208 4355 40l 5L T iy eVl (ST B i ) g 9 43S oo Bl iy YU 11y B s oS 355
YL 5 21B 1ol s aniy (YL 51IBIGIs gl a8 canl ol a5 S oo bl aiy YL & ) goto[m, A] )3 39340 34
Dy 355 55 s ojland SO Aty j dled ja 1y 00,5 e Bls andy

Canl 0d plos] cudibge b (6399 4y 4355 A5k action[i,a] =accept 51 g pdy -V

Conl 005 gy39y Cadidgoe pie b (63959 4ud, 4 355 AiL action[i,a]=error 51 :ls ¥
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E'’> E
HDE—>E+T
2)E-> T
3) T > T*F
4)T - F
5) F— (E)
6) F - id
id*id+id s ‘\ij;. J}")«‘ SLR 4-1)‘—4“. J)-b.-
Ly (§39)9 4, s> Action goto
dl+ =] C]) $ |E[T|F
0 id*id+id$ |  Shifts S, | S, S, 112]3
0id5 *id+id$ F—id S, ] Accept
OF3 *id+id$ T—F
S R, | S R R
0T2 *id+id$ | Shift7 2 21 2 2
0T2*7 | id+id$ | Shifts S, s | Ry Ry | Ry
0T2*7id5 +id$ F—id Sy | Ss S, 812 3
OT2*7F10 |  +id$ T — T*E S, R, | R, R, R,
0T2 +id$ EoT s. | s. s, 9|3
OE1 +id$ Shift6 0
OE1+6 ids Shifts 51| 5 >4
OE1+6id5 $ Fid Ss Se Si
OE1+6F3 $ T—F S, R, | S, R, R,
OE1+6T9 $ E—>E+T S R, | R, R, | Ry
El A ' " "
0 $ ccept s, R, | R, R, R
while(!EOF){ g JSS cpl ]y andy SG ajes wysl plg o S8 Ao Clusg 4y dagi b
IF(action[S;,x]=S) ok 55 CLR g LALR o1 0L SLR (¢ yol 5,811
Push (x);
Push(Sj);

x = next Token ();
else IF(action[S;,x]=R:A — o)
For(i=0to 2lal )
pop0);
Push (A);
Push (goto(S;,A) }
else IF[action (s, x]= Accept) Then
return
else
error();

}// end
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